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umber very clearly on e ) : S L
Test-booklet and Answer Sheet as A fn e R, \
given in your admission card. T TR agd v fofay
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given on the answer sheet for writing the oo v AT @ caE | GHHSR ST
answers. argqm 'cﬁﬁﬂ'ql
4. Darken the CIRCLE with pen for :
answering the question in the 4. U B S 1 D ¢ ww A wH wen B
appropriate space against the number HTHY SUGF I TR WA B 49 | Bl
corresponding to the question you are Eadl
answering. 5
5 R H 50 U¥H £l
There are 50 questions in the test. g €
Since all questions are compulsory, do 6. FaIfd Wit wes aifrard ¥ swfog S <
not try to read the whole question paper A B A gd YR U¥H U B 9GH DI
before beginning to answer it. IR 7 HfTl
6 Al you do not know the answer to any 7. afy amq FEEr wed 1 TR T o ¥ A 9w
question, do not spend much time on it i
and pass on to the next one. Time MR LR AR 37T A AR A
permitting, you can come back to the Sisel AfE @ A A fre @ o= uee @t
question, which you have left in the first 379 Ul BIS &A1 o1 S9 R YA 9199 3TN
instance and try them again. THD SR 9 BT VA B
8. Since the time allotted for this question R ArerfR
paper is very limited you should make the i ¥4 W 9 & ferg g
best use of it by not spending too much Wi &, guferg swe! siftrman Swm Hifsg
time on any one question. IR fHT U ues OR 9gd wHd & @Syl
9. ?h°“_?h :"g"k Iflart] tt;et dor:e a’t‘xwg‘—"e in 9. ¥% B 2% YRaw1 F B & R o wwa
e Test booklet but not on the Answer fRreg SR /3R <
sheet/loose paper. &, / W T
10. Every correct answer will be awarded one 10 9® e SR & foaQ usp o war fapan
mark. SITaT |
i’ lf’le.ase return the Answer Sheet to the 11. o1 T8 B AT S = Frwe B e
invigilator after the test. Y —
Please turn over the page and start your work.
FUII U YAfeT IR AT B IR Hifgl 0
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Directions for Questions 1to 5 :
Find the odd one out
1. 18, 61, 97, 117

1. 13
2. 61
3. 97
& 117
2. 28,87 415, 524
1. 58
2. 37
3. 4-15
4. 524

8. 3175, 7531, 1357, 7315

1. 3175
2. 7531
3. 1357
4. 7315

4. MQT, ADG, HKN, RUX

1. MQT
2. ADG
3. HKN
4. RUX

5. BDF, CHK, LDO, RFX

weq 1 9 5 & fou feem e -

TG I A BT
L. 18,61, 97, 117

1. ‘18
2. Bl
3. 97
4. 117

2. 2-3, 3-7, 4-15, 5-24

i. 248
2. A7
3. 4-15
4. 524

3. 8175; 7631, 1357, 7315

1= B14£5
2. 7581
3. 1357
4. 7315

4. MQT, ADG, HKN, RUX

1. MQT
2. ADG
3. HKN
4. RUX

5. BDF, CHK, LDO, RFX

gfg frer ‘s 9o’ § '64391' 1 '73482'

1. BDF 1. BDF
2. CHK 2. CHK
3. LDO 3. LDO
4. BEK 4. RFX
6. If in a certain code '64391' is written as 6.
1 1 S (] o] N . S
73482' then how will 218759 be coded* & ST A 218759 & B 5
1. 329860 1. 329860
3. 127840 3. 127840
4, 309668 4 309668
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7. If in a certain code '24631' is written as 7.
'GREAT' and '5897' as 'MONK' then how
will '84712' be coded?

1. OGKAE
2. ORKTG
3. ORATG
4. OGRTK

8. If 3rd of the month falls on Wednesday then g
what day will be on 27th of that month?

1. Saturday
2. Sunday
3. Friday

4. Monday

9. If Thursday falls on 1st Jan. 2015, whatday 9.
of the week will be on 1st Jan. 20167?

1. Monday
2. Tuesday
3. Friday
4. Sunday

10. If the following series is written in reverse 10.

order, then which will be 12th letter to the
fight of 10th letter from your right?

ABCDEFGHIJKLMNOPQRSTUVWXYZ

1. X
2. U
3. V
4. W

11. If the first and 11th letters of the word 11.

'‘DISTURBANCE' were interchanged, also
the second and 10th letters and so on,
which would be the 7th letter from your right

1 B

I fodt ‘s 9’ ° '24631' F 'GREAT
den '5897' &1 'MONK' famn smw df '84712"
&1 &Y o smum?

1. OGKAE
2. ORKTG
3. ORATG
4. OGRTK

Afg fordl #EH *1 @9 AR gEEr € odr 27
ai@a =1 F= fe= =m?

MIREIES

Ifganr

YA

HHER

I} SHEEl 1, 2015 1 GRER ® o SEE 1,
2016 <l =M @1 f&g7 =8rm?

. HHar

TR

YRR

Ifgar

gfg fafafad w9 =1 fawia $9 § fowen s
LB A 2 ™ |l = = - e e o e 1 o
qREl &R FAT B2
ABCDEFGHIJKLMNOPQRSTUVWXYZ
1. X

2. U
3. V
4. W

3= iy i

B

7fg 'DISTURBANCE' 318 | wgell 3R 11 =i
FeR A9 H 9ga ], TEU qA 10 A AR
Y T "5 & AR 3H dE H S0 d SIS
TE W 7 o e B G Bm?

1. R

2. B > B

3. A 3. A

4. U 4. U

12. BYVE:GTQL :: GXUF :7 12. BYVE:GTGQJ:: CXUF:?

1. HSQJ 1. HSQJ

3. HSPK 3. HSPK

4. GTRI 4. GTRI
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13. ARM:ESN::OWL:? 13. ARM:ESN::OWL:?
1. SXN 1. SXN
2. KXT 2. KXT
3. UXM 3. UXM
4. UXN 4. UXN
Directions for Questions 14 and 15 : ued 14 9 15 & fog faem ﬁé‘ﬂ\ :
Find out the missing letters - i feu e e H E£P SRR g9l STgE fashed
AL A2 FH I GU HifS0)
14. ab_abcbcdb_d_decdedefde 14. ab_abcbcdb_d_decdedefde__
1. ©eef 1. cecf
2. bcdf 2. bcdf
3. bcde 3. bcde
4. bded 4. bded
15. babc_abbccc_cdbbc ddde eccddee 15. babc_abbccc_cdbbc_dddc_eccddee
1. adcd 1. adcd
2. abcd 2. abcd
3. bcde 3. bede
4. bdbd 4. babd

16. A person goes 30 km towards North from 1. ws =afeq ws o9 ¥ 30 km 3w fawnm & <
a fixed point and then after turning to his 3 firt <€ 9F TR 15 km 3 Ry TE

right he goes 15 km. After this he goes 30 : i .4 . N ok
km after turning to his right. How far and T TE FEA § 3R 30 km = €1 TE '

in what direction is he from his starting Teel T H A - R o fm & €2
point? I. 40 km, gd

1. 40 km, East 2. 15 km, 9@

2. 15 km, East 3. 45 km, 9fv=mH

3. 45 km, West

4. 45 km, North B SR, A

17. Apersonis at a fixed point, from where he 44 U oAl T T Y 20 WX ufvem o S 2

goes 20 metres towards West. From there & s A ¥ 3 %
he goes 10 metres towards North. Then =l & = 10 W H S €| R T o

he goes 35 metres towards East and after 35 HieX =l & N fH 5 tﬂa\ feor S &l
this he goes 5 metres towards South and fFr 15 Hiex ufvew #, 98 3199 Ted T™E 9
in the end he goes 15 metres West. How fopet T 27
far is he from the fixed point? 1 51

1. 5 metres

2. 0 metre 2. 0=
3. 10 metres 3. 10 #Hi=X
4. 15 metres 4. 15 Hix
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18. If the following words are arranged 8. #f f=fafaa vi= =1 s=ww & HAHH
according to the dictionary order then which

LS S \\.)
will be the second word in that order? 1 y S e, A W%ﬂi ks
) Export, Exposure, Expulsion, Expose
Export, Exposure, Expulsion, Expose
1. Export
1. Export
2. Exposure
2. Exposure ;
. 3. Expulsion
3. Expulsion 4 E
4. Expose e
Directions for Questions 19 and 20 : ueH 19 9 20 & fow faen e -

Six people P, Q, R, S, T and U are sitting in a ¢ =affd P, Q, R, S, T 921 U TF JAHER H 93
circular path who are facing the centre. R is third 337 5= & % &I 3R 21 R, P & ¥ 3T 99y

from P in the right. Q is third from T in the left. U is ToqT - b AT TR T T 3
between P and T and S is third from U from the WS B Q, T & 5 &R kol

left and from right. PAm T % a9 4% 3l S, U= a 3ir 2 #in
q i T W R
19.  Who is opposite to T? 19. T & 9MH $H 22
1. B 1. &8
2. 'Q 2. Q
3. P 3. P
4. U 4. U
20. What is the order of the six people from 2q. TE 3R 9 &N &1 Y 1 22
the right? 1. SQRUTP
1. SQRUTP 2. TSRQUP
2. TSRQUP 3. SRTUPQ
3. SRTUPQ 4. SQPTUR
4. SQPTUR
21.  Shyam is older than Ram. Ram is younger 2. varg g 4 TS 8, U9 HET 9 B 2 3R
than Mohan who is not older tha Shyam. ) : 3
iyt & younger-than: Keiskinan. Wike s $ ::S :@wﬁfj' T FA W DA T
the eldest among all? 2 3
1. Mohan I e
2. Krishnan 2. PWH
3. Shyam 3. ¥H
4. Ram 4 ™
22. If in a class of 37 students the places of 22. T& Han ¥ 37 forey & afg sruen ik o=
Anuradha and Saroj are 10th and 16th HT OTIHE HHY: 10 & W 16 o & d 9%
Iraesste)ectively, what are their places from the o anfEr | F= Bi?

1. 28th and 22nd
2. 27th and 21st
3. 28th and 20th
4. 27th and 22nd
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23.
number series which are preceded by 5 but
not followed by an odd number?

13523545245226245267823527524
1. One

2. Two

3. Three

4. Four

24.
number series which are preceded by an
odd number but followed by 47?
15323465347834923456343534
1. None
2. Two
3. Four
4. One

25. If the numbers from 4 to 55 which are di-
visible by 3 and also the numbers which
contain 3 as one of the digits, are removed,

then how many numbers will be left?
1. 24

2. 23
3. 22
4. 25

26. A doctor said to his nurse, "l go to see the
patients at their residence after every 3.30
hours. | have already gone to the patient
1.20 hours ago and next time | shall go at
1:40 p.m." At what time this information was

given to the nurse by the doctor?

1. 10:10
2. 11:30
3. 8:50

4. 11:20

How many 2's are there in the following 23.

How many 3's are there in the following o4

9
n

26.

fi ﬁﬁ o },—qﬁ@‘g’ﬁ \%\:ﬁ <
M 5 SR 1w faug @ 9 82
13523545245226245267823527524

.

9344

15323465347834923456343534 H uH ‘3’
fored € s e faum dew 2§ 3ir b9iw 4
2?2
. s &

9

3. =X

4. TH

afe 4 9 55 9= A9 H 9 3 9 famfsa 81
el 37 3R fSad 3 &1 3% 7, g1 fRu =iw
a1 fomad 31 w® e

24

23
22

P Mo

25

ek S A9 A8 G HEdl € - H oI TS
1 37 TR B 3.30 H A% 3@ S & T
TSl % TR ST gY 1.20 S B gH € IR H
379 TI9eY 1 1:40 p.m. T ST SEE A T8
o 99 i fhad TS Taqg?

1. 10:10
2. 11:30
3. 8:50

4. 11:20
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Directions for Questions 27 to 30 :

If according to a certain code

'mar tar gar.zar' means 'Can we start immediately’.
‘har zar par dar' means 'No you start tomorrow'.
'dar sar kar tar' means 'Can you come here'.

'yar pg( mar sar' means 'No we stay here'.

27. What is the code for 'stay'?

1. vyar
2. par
3. mar
4. sar

28. What does 'dar' mean?

1. No
2. Can
3. You
4. Start

29. What does 'mar' mean?

1. Can
2. We
3. Start
4. Here

30. What is the code for 'immediately'?

yeq 27 9 30 & feuw faen frdwr

IfE TH HE 99 & FAIER

'mar tar gar zar' &1 HTAHT 'Can we start
immediately' -

‘har zar par dar' =1 Hdeld 'No you start tomorrow’
'dar sar kar tar' =l Hdeld 'Can you come here' @

'yar par mar sar' 1 Hdeid 'No we stay here' ®

27. 'stay' &% o F1 I = B2

1. vyar
2. par
3. mar
4. sar

28. 'dar' =1 @ =T BIM?

1. No
2. Can
3. You
4. Start

29. 'mar' 1 ¢ T BAM?

1. Can
2. We
3. Start
4. Here

30. ‘immediately’ % fou =1 Hig = 2?2

1. vyar 1. vyar
2. har 2. har
3. sar 3. sar
4. gar 4. gar
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Directions for Questions 31 and 32 : ¥eq 31 9 32 & fou feenm e

In the figure given below, triangle represents girls, =@ fo3 o, fys-efFEal, Amr-faefed R
square represents sports person andcircle  rep- g 1 g FEar 2
resents coaches.

D

31.  Which portion of the figure represent girls  31. T =1 %M @ 9 wrsfral ® 37 faente=i

who are sports-persons but not coaches? 1 3 e € S R R 22
1. A be
2. B 2. B
3. C 3. C
4. D 4. D

32.  Which portion represents girls who are 32. == &1 FME T AT 3T ASlHA HI I FL

sports-person and coaches? 7 S faerel qean w= 26 82
1. D 1. D
A - 2. C
38 B 3. B
4. A 4. A
Directions for Questions 33 and 34 : ueq 33 9 34 & fou fwn e

A figure is given. A mirror is placed at one side of gz & Td0 @ TR © S AB 9 =9TET T B
it. The mirror is denoted by AB. Which one of . ® ¢

answer figure will be its image. =0 foa = wffer = @ @2
33. 33.
A B A B
n g g
A o A b B
c D c 2 D
O
1. A
1. A o B
2. B
3 © 3. C
4. D
4. D
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34. A B 34. A B

|| ||
JU] o[ JU0] e[
o D|—| c D’_I

1. A le &

2. B 2. B

3. C 3. C

4. D 4. D
Directions for Questions 35 to 37 : ueH 35 ¥ 37 @ fou fwm e -

Study the three different positions of a dice given s g =t o= feenfaal = <4 7 T o & emuR
below and answer the questions. ¢ R

3 3 4 3 3 4

g |= 5 |6 5 |3 g = 5 |° 5 {2

Fig. (1) Fig. (2) Fig. (3) Fig. (1) Fig. (2) Fig. (3)
35. Which number occurs on the face 35. 2 & faufid ®= @ F 22

opposite to 27 - [

T 4 2. 4

2. 4 3. 5

3. 5 4, F@ A& B Hehdl

4. Can not be determined

36. The number on the bottom face of fig. (1) 36. fig. (1) ® ==&l HF @ HF B2

is -
1. 1 1 4
2. 4 2. 4
3. B 8 5
4. None of these 4. TIH 9 HIE &
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37.

The number on the face opposite to 6 is -
1. 1

2. 5
3. 4
4

Can not be determined

Directions for Questions 38 and 39 :

Find the number in the position of "?"

38.

40.

Pioneer Education | SCO 320, Sector 40-D, Chandigarh +91-9815527721, 0172-4617721

7 ?
4 8 2
24 56 48
1. 4
2. 3
3. 2
4. 5
6 1 16
24 42 20@3
3 3 9
1. 285
2. 141
3. 144
4. 188
The first term in a sequence is 1 and the

second term is 5. From the third term on
each term is the average (arithmetic mean)
of all preceding terms. What is the 25th term
in the sequence?

1. 2.5
2. 3
3. 5
4. 2.5

www.pioneermathematics.com

37. 6 & fauda == @1 3iF 22

1. 1
2. 5
3. 4
4, G & B GHal

¥eq 38 9 39 & fou fawn f~der
‘2" % TE W AT BN

38.

39.

40.

Ao

2
24 | s6 | 48

1. 4
2. 3
3. 2
4. 5

6 1 15
24 42 20@3

3 3 9
1. 235
2. 141
3. 144
4. 188

foret g@en ¥ yom ug 1 ® SR fgdta ug 5
2 I 9 G YSE UZ W o US &
SHa (TR WEA) 1 gEen #5125 9 us
FT B

2.5

3

5

2.5
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Directions for Questions 41 to 43 :

In each question there are two sets of figures.
One is 'Problem Figure' while the other is
'‘Answer Figure'. The four problem figures make a
series. Find out which one of the answer figures
would occupy the forth position in the problem
figures if they continue to change in the same

order.
e.
#e T = | ®
M—==23
A B C D
[
2. B
3. ©
4. D
42, ?
s - |4 2
A B & D
1. A
2. B
3 C
4. D
43.
AR YAIAR
|| ?
X))
A B C D
1. A
2. B
3. 1€
4. D

Ued 41 ¥ 43 & fow faen Adwe
g yvA | =1 T fRu ¥ us we e ® gEw
Heyifera swr ot 81 wea fo o epfas o fafv=a
FH 9 agd Wl 7 3w o w1 erpfaa § 9 e
o wyA foa #1 stmfadl | =9 T 9T SO,
599 %9 ¥ 95ad gEad a9 @2

41. —
= || 7
%
T = = ==
A B C D
1. A
2. B
3 C
4. D
42. o
L, . 917
A B (& D
1o A
2. B
3. C
4. D
R =1
| |C=| 7

X

OO0 w> >.

° |

ol
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44. How many squares are there in the 44. fi= smpfa o feas =nf 22

following figure?

4.

Directions for Questions 45 to 47 :

The questions represent certain relationship. The
same relationship has been represented by the
figures A, B, C, D and E but not in the same order.
You have to choose the right choice.

© © &b

&M o

12
13
14
15

12
13
14
15

ged 45 9 47 & fou Fen e
freafafes oo & s dau 21 9@ ddw g6 @
megs 9 fo=i A, B, C, D @ E ® s9ier T ®
wiferd %H | 721 T faweq A

© @ Jo

il

Q@@XD O@@ZD

45. hospital :
1: B
2. A
3 G
4. D

46. suitcase : shirts : trousers
1.

47. light : dusk : dark
1s

2.
3.
4

Oomum

bed : patient

45. Iare ; faww 7w
B
A
C
D

46. THY : FHHMS ;G

B e

AN =
OoOmuw

47. YRTY : HEHT : 3E

C 1. C
2. A 2 A
3. E 39 E
4. D 4. D
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Directions for Questions 48 to 50 Uq 48 ¥ 50 & fou fewn =9
Which answer figure will complete the incomplete 31311 3 &l Ry FH & fau w2t fameg =1 =94
figure? =5 \
48. 48.
P /
4 N
i
X g\ A /
A B G D
A B (@ D
T A 1. A
2. B 2. B
3. € 3. C
4, D 4. D
49. 49.

®\/ S ®\/ Q

/]
A B C D A B C D
1. A 1. A
2. B 2, B
3, € 3 ©
4. D 4. D
50, o 50. o
N N\
o 5] 4 N
o o o o
o o o o
o ° / / o o /] /
A B C D A B C D
1. A
2. B 1. A
3. © 2. B
4. D 3 €
4. D
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